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N1 = 1000000;
xl = -1+ 2%rand(1, N1);
v1 = -1+ 2%rand (1, N1):
num?2 = sum (x1. 2+yl. "2 < 1)
out?2 = 4#num2/N1:
out?2 = sprintf( % 12f , out2):

disp (out2) :
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a=3; % FITERE
1=2;%#
N=10000000; %#inik 125 i85
x=1. Skrand (1, W) ;%TE[0, a/2] AR S o batl £ 5
theta=(pi/2) #rand (1, W) ; %TE[0, pi/2]AMRMEIH 5w REHL=EN15
n=sum (x< (1/2) *sin(theta) ) ; %2R 5 FATEAE22 B0 80
p= (2% 1) / (a%n) ; %5 Fpi A&
outl=sprintf (" %. 12f", p) ;%45 4 B4 &7
disp (outl) i H R
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*| noise.m | test reshape.m | + \
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1 HHEEEIZF =
2 — A=T; x0=1; M=16384; f=2; N=24000;

3= for k=1:N

4— xl=A*%x0;

5— x2=mod (x1, M) ;

6 — v1=x2/M;

= v(:, k)=vl; =]
8 — x0=x2;

9 — v0=v1;
10 — end

11

12 — B=reshape (v, (2000, 12]) ;

13 — for B_length = 1:2000

14 — T C(B_length, :)=(sum(B (B_length, :))-12%0. 3) / (sqrt (12/12)) ; =]
5= end

16 — k=1:300;

17 — noise_draw = C(1:300):

18 — figure(l);

19 — plot(k, noise_draw, 1) ;
20— titleCBEESHHEN (0, 1) HHESERFE ) ;
21 — figure(2);
22 — histogram(C, 200) ;

23 — title (" RS FIIMESIT )

A4
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1-— cle;
2 — clear;
3 — N=5;
4 — v = [0.3;0.5;-0.2;0.6;0.83];
5 — u=1[2.1;-2.7:0.8;1. 5:-2. 11 ;
6 — Y = y(2:5);
= PHI = zeros(4,3):
85— for j = 1:N-1
9 — PHI(3, 1)=- v(3);
10 — PHI (], 2)= uli+1);
11 — PHI (], 3)= uli);
12 — end
13 — theta_hat = (inv(PHI' #PHI))#* PHI *V;
= disp(theta_hat) ;
wSiTE
-1. 4862
0. 3456

0. 4569
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% O HFAT-ax £ MFF 5

clc;

clear;

N=6;

a=5;

M=[0,0,0,1,1,1];

Np = 2~N -1;

u=zeros(1,Np);

Repeat T = 4;

for 1 = 1:Np
%ocics, Jails
m=xor(M(1),M(6));
for j = 6:-1:2

M(3)=M(]J-1);

end
M(1)=m;
u(i)=M(6);

end

figure(l);

stem(u, 'filled');

grid on;

k=1:Np;

u = (1-2*u)*a;

ylim([-4,4]);

title('JEUAMFS");

M line = repmat(u,1,(Repeat _T+1));
x =1:Np*(Repeat_T+1);

figure(2);

stem(u, 'filled');

grid on;

ylim([-4,4]);

title('AMIELE HINENOHKIMFES]");

K =120;

T1 = 8.3;
= 6.2;

TO=1;

tt = 1:1:Np*(Repeat_T+1);




den [51.46,14.5,1];

num = 120;

G=tf(num,den);

y = 1sim(G,M_line,tt);

y=y';

figure(3);

plot(M_line,'r');

hold on;

plot(y,'g");

white_noise = create(2);
z=y+(white_noise(1l:length(y)))"';

hold on;

plot(z,'b");

title("MFPAIFI AN EE R, (R ERN2) ');
legend ("MPAI ", " AN AL *, C ROINME A S SR EE )

% HAH R B H ) T
for k = 1:Np
Rmz(k)=0;
for hxg_i = (Np+1l):((Repeat_T+1)*Np)
Rmz(k)=Rmz(k)+M line(hxg_i-k)*z(hxg_1i);
end
Rmz(k)=Rmz(k)/(Repeat_T*Np);
end

M = eye(Np)+ones(Np);

%t SRk R THg_hat

x_cord = 1:Np;

g hat = (Np/((Np+1)*(a~2)*T0Q))*M*Rmz";
figure(4);

plot(x_cord,g hat(1:Np));

title( " fkyhm AL THE ") ;

go(Np)=0;

for k=1:Np
go(k)=(K/(T1-T2))*(exp(-k*TO/T1)-exp(-k*T0/T2));

end

figure(5);

plot(x_cord,gd','r');

title (" Bk S EEBAE ") ;5

AL TR 2
error_sum=0;
square_sum=0;




for k = 1:Np
error_sum = error_sum+(go(k)-g_hat(k))"2;
square_sum = square_sum+(go(k))"2;
end
sigma_g = sqrt(error_sum/square_sum);
disp([ 'k EiHRZEN: ', num2str(sigma_g)]);
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% NI ZF A7 A A PP 41
clc;
clear;
N=6;
a=2;
M=[0,0,0,1,1,1];
Np = 2”N -1;
u=zeros(1,Np);
for 1 = 1:Np
%ICICH, JaREAL
m=xor(M(1),M(6));
for j = 6:-1:2
M(3)=M(]-1);
end
M(1)=m;
u(i)=M(6);
end
figure(l);
u = (1-2*%u)*a;
stem(u, 'linewidth’',2);
title("HNESMTHI")
x=zeros(1,Np);
z=zeros(1,Np);
x(2)=0,x(1)=0;
%A HER BT SR A5 BEAR fa




al s = 1.5;

a2 s = -0.7;
bl s = 1;
b2 s = 0.5;
for k = 3:Np

x(k)=al s*x(k-1)+a2 s*x(k-2)+bl s*u(k-1)+b2 s*u(k-2);
end

noise = white n(0.01,length(x))";

%R AT S B H

Z=X+noise;

figure(2);

hold on;

plot(z,'r', 'linewidth',1);

plot(x,'g"', 'linewidth',1);

title (" ERARS HHAIRE AV gL a ) 5

legend (" HABHIH ', "M ES Y SR );

% BT RE

co
po

[0.1,0.1,0.1,0.1]";
10"6*eye(4,4);

pri_set = [-al_s,-a2_s,bl_s,b2 s]';
BRI A, Ibibal a2 WS
pri_eva = [c0,c0,zeros(4,Np-2)];
pri_error = [cO-pri_set,c@-pri_set,zeros(4,Np-2)];
y = zeros(4,Np);
for k =3:Np
h_ new = [-z(k-1),-z(k-2),u(k-1),u(k-2)]";




temp = inv(h_new'*p@*h_new+1);
K = po*h_new*temp;
cO® = coO+K*(z(k)-h_new'*co);
pri_eva(:,k)=co;
pri_error(:,k) = pri_eva(:,k)-pri_set;
po@ = pO-pO*h_new*temp*h new'*po;
end
figure(3);
hold on;
grid on;
plot(pri_eva(1,:)*-1,'r', 'linewidth',2);
plot(pri eva(2,:)*-1,'b"', 'linewidth',2);
plot(pri_eva(3,:),'g', 'linewidth',2);
plot(pri eva(4,:),'y', 'linewidth',2);
title("ZHAEITFEIR");
legend('al', 'a2','bl', 'b2");
figure(4)
hold on;
grid on;
plot(pri_error(1,:)*-1,'r',"linewidth',2);
plot(pri _error(2,:)*-1,'b', 'linewidth',2);
plot(pri_error(3,:),'g", 'linewidth',2);
plot(pri_error(4,:),'y"', " 'linewidth',2);
title("ZHAEIHRE");
legend('al', 'a2','bl', 'b2");
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left to
second
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nput port is the control port. The
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cles
clear;
for k=1:50

[t,x,y]=sim('budgee cmd');

if min(y)>0

break

end
end
disp(['The minimum safe k is:',num2str(k)])

RS RN

File Edit View Tools Add Help Integrator
=0 B~ ~[H- [ +at Continuous-time integration of the input signal.
B - & Searct
Parameters
hy = 1) Nodel Forkspace
. . 7- Forkspuce datn External reset: \none 2
I ‘  Data source: [Wedel File - e o
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| aem* x| + |
T, cle; (=
2 — clear;
3 - for k=1:50
4— [t, %, yl=sim( budges_cmd ) ;
5— 1f min(y)>0
6 — break
(= end
8 — end
9 — disp([' The minimum safe k is: , num2str(k)])
werEa ®
The minimum safe k is:37
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Block Parameters: Integrator

Integrator

Continuous—ti

Parameters

me integration of the input signal.

External reset: |none

Initial condition source: internal

Initial condition:

‘sLm'l

[1Limit outp
[]Wrap state
[] Show satur
[] Show state
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Integrator
Continuous—time integration of the input signal.

Parameters

External reset: |rising -

Initial condition source: |external ©
[ Limit output

[ Wrap state

[] Show saturation port

Show state port

Absolute tolerance:

‘(lUL(l

[] Ignore limit and reset when linearizing
Enable zero—crossing detection
State Name: (e.g., 'position’)
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Block Parameters: Integrator Bl et g e

Integrator ~

Integrator ST, o o ; -

Continuous—time integration of the 1nput th.'.th]‘

Continuous—time integration of the input signal. ,
Parameters

Parameters External reset: none -

External resct: el ing - Initial condition source: |internal -
Initial condition:

Initial condition source: |external i 1100

[JLimit output M Limit output

Upper saturation limit:

[] Wrap state

[] Show saturation port -
Lower saturation limit:

Show state port 0 E
Absolute tolerance: [ Wrap state
|.‘1Uu| | [] Show saturation port
[ Show state port
[] Ignore limit and reset when linearizing Absolute tolerance:
Enable zero—crossing detection [auto
State Name: (e.g., 'position’) [ Ignore limit and reset when linearizing
|‘ : | [1Enable zero—crossing detection

State Name: (e.g., 'position’)

9 OK Cancel Help Appl 9 Cancel Help
RdcE R adfrtEiE () PUEIRIPIaE = (4))

Eile Tools View Simulation Help

Q- 0P® -q-C-F3-

Ready Sample based Offset=0 | T=50.000

NERD BT L4




Eile Tools View Simulation Help

Q- 0OP® - q-[-£4-

Sample based Offset=0 | T=50.000

INERTE AN LA R



	系统建模与仿真 第一次作业 190320521 刘自涵
	190320521 刘自涵 第二次作业 系统建模与仿真
	190320521 刘自涵 系统建模与仿真第三次作业 
	190320521 l刘自涵 系统建模与仿真 第二次上机实验报告
	190320521 l刘自涵 系统建模与仿真 第三次上机实验报告
	190320521 刘自涵 系统建模与仿真 第四次上机实验报告

